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1.
Introduction
At the RAN2#65, CR324 was agreed so that subheader for 1 or 2 byte padding is always placed before any other subheader. The related discussion paper is in [1]. 
	6.1.2
MAC PDU (DL-SCH and UL-SCH except transparent MAC and Random Access Response)

Padding occurs at the end of the MAC PDU, except when single-byte or two-byte padding is required. Padding may have any value and the UE shall ignore it.

When single-byte or two-byte padding is required, one or two MAC PDU subheaders corresponding to padding are placed at the beginning of the MAC PDU before any other MAC PDU subheader.


According to the current section 6.1.2, a problem occurs in following figure 1:
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Fig. 1 Example 1
In above figure 1, the MAC PDU size is M+6 octets and the MAC SDU size is M octets. To fill the 3 remaining octets, following options in figure 2 may be possible.
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Fig. 2 Option set 1
Option 1 and 2 violates the agreement of the CR324. I.e., one or two byte padding should be at the beginning of the MAC PDU. And option 3 violates the current specification in that 3 byte padding is placed at the beginning of the MAC PDU.
There are other options as shown in the following figure 3:
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 Fig. 3 Option set 2
However, above option 4 and option 5 also violates current specification because the last MAC Subheader cannot include “F/L” fields.
	6.1.2
MAC PDU (DL-SCH and UL-SCH except transparent MAC and Random Access Response)

A MAC PDU subheader consists of the six header fields R/R/E/LCID/F/L but for the last subheader in the MAC PDU and for fixed sized MAC control elements. The last subheader in the MAC PDU and subheaders for fixed sized MAC control elements consist solely of the four header fields R/R/E/LCID. A MAC PDU subheader corresponding to padding consists of the four header fields R/R/E/LCID.


2.
Discussion
To root of the problem described in the section 1 is that it is not clear what is meant by “when single-byte or two-byte padding is required”
Regarding the interpretation of “when single-byte or two-byte padding is required”, there are two alternatives:

- Alt.1: The actual amount of ‘not useful data’ in the actually transmitted MAC PDU. I.e., the sum of “padding (at the very end of PDU)” and “subheader for padding” in the finally composed MAC PDU.
- Alt.2: The amount of left space in the allocated radio resource after logical channel prioritization.

During the offline discussion, it was a common understanding that “when single-byte or two-byte padding is required” should be interpreted according to alternative 2.

This means, the number of required padding byte is the number of padding space after logical channel prioritization. In this logical channel prioritization, padding BSR is included and the normal MAC subheader is assumed. Here, normal MAC subheader means that the last MAC subheader does not include ‘F/L’ field.
With above clarification, for figure 1, 3 bytes padding is required. Thus, option 1 and option 2 is allowed. 

3.
Proposal

It was proposed to clarify the meaning of the ‘when single-byte or two-byte padding is required’. The draft CR is in [2].
3.
Reference

[1] R2-090087, MAC PDU subheaders corresponding to padding, Panasonic, Fujitsu
[2] R2-093165, Proposed CR correction on MAC Padding
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